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e Syntax & Morphology- Dr. Abdullah Al-Mulhim
e Fourth Lecture-Describing a Sentence

Describing a Sentence 4l Ciua g

e We humans are not the only species that engages in oral
communication.
el Juai¥) Jalei cpalll Cppaes sl Ll 300 (i @
e QOur language has an enormous range because it consists of parts
that can be arranged in unlimited ways.
Basdaa e (3 ka Leati 5 (S o) Ja) (e O ST o Ansl ) Lk (ST o
e Human’s ability to arrange words in different ways allow us to
produce a potentially infinite number of grammatical sentences,
but because not all are grammatical, our grammar must consist
of principles or rules for arranging them.
L@J)mayJ\L‘J\Mbumé#\uﬁwﬁwﬁ\uﬁ)ﬁé&).CA.\M'BJJE °
Lt il ac) 68 elligh 4 a Lppman ol LW g (AiSaal) 4y saill Jaall (40
e Violations of the rules result in ungrammatical sentences.
L Sl Jeall e i 2o Gl ST o
Examples:
No Monkeys have words.
Monkeys have no words
Have Monkeys no words?
Have no Monkeys words?
No Words have Monkeys.
Have no words, Monkeys!
* Words monkeys have no.
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Discovering the Parts of Sentencesilaal) ) jal il

e Example: The monkey saw a leopard.
e |f you were asked to divide the sentence into its parts, you would of
course identify the five words that comprise it.
Leie alls S Gued aaad o) el dleadl ol of dlie (il Jal) dapday @
e But what if you are asked about larger units? Are there any groupings of
words in the sentence that seem to “go together”?
52 ) Aleally LS (e de sana sl lin Ja- ST cilan e dlia cilla 1 13l (S5 @
" ' £ e " Lagl
e Your intuitions would probably lead you to identify the monkey and a
leopard as groupings in this sense.
szl g Cile sana g paill g2 jall paadl dly iy Lay ) Lo @
e They seem to belong together in a way that monkey saw or saw a clearly
do not.
. =5 monkey saw or saw O} 4k sk bae i L) s o
e Furthermore, the monkey and a leopard seem very similar, as if they are
groupings of the same type.
& 5 i (e e gana Ll o1 LS Tan gl yaill g o @) s -clld e 300 o
e In fact we can substitute one for the other and still have a grammatical
(although different) sentence: (A leopard saw the monkey).
Alea 5 (alide (o a I o) il J 3 Vs AV Laaaal Jadiss (i adll) 48 @
(A leopard saw the monkey).
e In contrast. If we switch the monkey with a different grouping as saw a,
the result would be ungrammatical: (* saw the monkey leopard).
At e Al () S —aaliS dalids de ganae e 2 al) Ll 1B)-JiGl @
( saw the monkey leopard).
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e If we determine that sentences are constructed out of such
groupings, we will have gained an important insight into the
structure of the English language.
Aol 8 Aala 3 S8 i - e sanall 03gr iy Jaall o 8 o Lile (IS 1Y) @
ey
e From now on, we will call such groupings PHRASES.
PHRASES -<ile sana o3¢l (3lhi 8 gus clacliad (Y (10 @
That is, we will consider a phrase to be one or more words that
occur together in a sentence and that we recognize as somehow
working together as a unit.
Jaxi Ll @l i g Alaad) 8 e Gaoad ClalSH ST gl 30a) g dlen iizin 13¢] @
Baa) 5 aa S laa (AL 1 45 )k,
Phrases can be said to function as CONSTITUENTS--- that is, as
parts that make up or constitute sentences.

s I 0 el 3aY1 LS ol CONSTITUENTS ik s 258 Jaall Jall Sy o
All subparts of sentences can be called CONSTITUENTS, from
individual words like monkey to phrases like the monkey to the
entire sentence itself.

el e - CONSTITUENTS dze all Jaadl o) al aaand 3y o)) Sy @
L LeLely Alanll 800 (Jia S jlae 1) 3 8 e i
Another test of the reality of a phrase like the monkey is whether
other such phrases can be found that can substitute foritin a
grammatical sentence.
OSan Al bl s3a Jie aad Say OIS 13 Le 280 Jia 3 jlaall a8l 5l AT sl o
Al dlaall 8 N Sy o oS5
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e Examples:

e The crocodile saw a leopard.

e A leopard saw a leopard.

e The wise, old, alert monkey saw a leopard.

e Anita saw a leopard.

e The man who had a scar above his right eye saw a leopard.
e We saw a leopard.

o >>>>>>>> | et’s give this type of phrase a name.....we call it a noun
phrase (NP).

(NP) fuand les s .. Asen) Jaall (g g il 138 gl

e Not every grouping of words is a noun phrase (NP).
(NP) dpen) e -lalSll (g0 de gena JS @
e Examples:
* Ate saw a leopard.
* Ate a banana saw a leopard.
* Very happy saw a leopard.
* Fearfully saw a leopard.
* Over the river and through the woods saw a leopard.
e According to our test procedure, none of the above examples seems to
be a noun phrase (NP).
(NP) 4pen) danS g5 4l ALY (yo gl - JLEAYI L) 2 G5 @
¢ In addition to the two noun phrases in our example (The monkey saw a
leopard), also contains the word saw, which, according to our test, is not
a noun phrase.
Ll (The monkey saw a leopard) dsesY! Jaall (e (Y 4liaY) 8 ALYl o
Avan) Aea ol LD a5 5 saw AalS e (g gin
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e By performing the same substitution test that we conducted on noun
phrases, we can find many other words that could take the place of saw
in the sentence: angers, tickled, resembles, hypnotized, to name a few.

Ge 2l aa ) S e Jeall e ol jal i) doad) JLERY) Gl o) ja) sl (0 @

angers, tickled, resembles, «ileall 3 saw Jae dad o)) (S Sl (5 ,aY) L))

Ji8 aul< hypnotized,

e So saw belongs to another category of CONSTITUENTS; we will call it a
verb (V).

J=d agle (3llai Cagud CONSTITUENTS (e Al 48 ) ai Cun o

e Our analysis of our example (The monkey saw a leopard) has shown us that it
consists of a noun phrase (the monkey) followed by a verb (saw) and then another
noun phrase (a leopard). So we can infer that:

Lo s (the monkey) Geend Ales (10 (5S4 431 (1155 38 (The monkey saw a leopard)tldss e
Ol it () LiSay Al (3 [eopard). dsesl ies & (saw)da:

e S——>NP+V+NP

e We can analyze our example further.

Load JUall Jidas WiSay @

e Two of the constituents appear to have constituents of their own, because the
noun phrases each consist of two words.

OEalS e (5S8 Lpan) Jaadl (Y cage duald il e ellad il Sall (e (Sl @

e The words the and a can be interchanged (A monkey saw the leopard), and we will
call them ARTICLES (Art). Likewise monkey and leopard belong to the category
NOUN (N). We can infer:

A Jiddl s (Art) @Yl W seais (A monkey saw the leopard),dlaliie LI () &5 o (Say @
it O WiSapelans) 43l ) el 2l

NP---> Art+ N
This tells us that the noun phrase (the monkey) consists of the article the followed
by the noun monkey.

CAl g auly de giie 33le (e O5Sh (the monkey) 4eesY) ddaall (LU s 18 @
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Finally, many people have the intuitive feeling that, just as a leopard is a
constituent of the sentence (The monkey saw a leopard), so too is the
longer phrase saw a leopard.
Alaall 4 €4 (a leopard ) - G g agadl Gl (e ES of o a0 5
.('saw a leopard) 5_lue Jshl Lai 5 (The monkey saw a leopard),
That is, they sense that the sentence consists of two major parts, the
monkey and saw a leopard.
(monkey and saw a leopard )Cmass ) (s (e 0sSH Alaad) () iras o s @
Or to put it in terms of the sentence’s meaning, the sentence consists of
(who-did-it?) part (the monkey) and a (did-what?) part (saw a leopard).
(saw a leopard).s »S (did-what?)c«s (the monkey)s =S (Who-did-it?)dlesll Jize pua g s e
Let us give the latter constituent the name VERB PHRASE (VP).
VERB PHRASE (VP). 4zl dlaall ausl a1 o Kall ani lises o
We observe that it consists of a verb (saw) followed by a noun phrase (a
leopard).
(aleopard). daenl dles Lili(saw)dzd (s (S 43l LDl o
Therefore, we can infer:
it ol i€y (Ul o

VP--->V + NP

Now, We can revise the rules:
S---> NP + VP

NP---> Art + N

VP--->V + NP

Labeled Brackets and Boxes
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Exercises

1. Place labeled brackets around each of the constituents in the following
sentence:
Al dlaal) 8l Sl JS) casall s (il 81 o @
e The soldier spied an enemy

2. Draw labeled boxes around the constituents in the following sentence:
Al dleall 6 awall Jsn Clay o o)l @
e An amateur won the championship
3. Draw a tree diagram of the following sentence:
Al Aleall s il Jadadsi o )i o
A couple danced the tango

Tree Diagrams

Tree Diagrams M
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